Pre-Calculus 11
3.1 Quadratic Functions in Vertex Form y = a(x-p) +q

Having examined the effects that g, p, and g can have on a quadratic function individually, we will now

consider examples that incorporate all three values simultaneously
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Example #1: Sketch the graph of each function. Do not use a table of values
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Example #2: Determine the equation of the function representing each graph.
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Example #3: Write the equation representing a parabola with the following properties.
a) vertex at (9,—4) congruentto y= 3/x2

soae =13 L\E by 5

o
2 Y=3(2-9) -4

C or
b) vertex at (—2,—6) through point (4,3)
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